[sum(p )[ANA(AQ)] [GeV]

Ratio to CMS

3.5

1.5

[EEY

0.5

2760 GeV pp Underlying Event
- | : | : | : | | | | : | : | T ]
n Sum(p_) Density (TRNSDIF) (nj|<2.o, hl<2.0, p >0.5) ]
[ = CMS —
| --3-- Herwig 7.2.0 default : _]
— —&— Pythia 8.176 default ]
—— -4 Sherpa 2.2.0 default ]
— -
ol n -

| | , | | | . , | | | N

: T T T T | : T T T |:

- oA E

r - i

I | |
1 1 . 1 1 | i 1 A 1 . |

50 100

P, (leading track-jet) [GeV]

Rivet 3.1.0, = 5.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


